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1. The slope of the transfer characteristic of an 1, n-d9d JFET ¥ 3 Afiensfons &1 2 2var 2-
n-channel JFET is : ‘ il
(a) Horizontal (a) atfcraT
(b) Positive (b) FTHS
egative (c) FUTTHD
(d) Exponential and Positive (d) TR T EATHS

The two depletion regions in the channel of JFET
actlike a:
{(a) Voltage controller
(b) Current controller
(c) Channel resistance controller
(d) Both (a) and (c)
3. ForaP-Channel JFET, current carriers are
(a) Electrons
(byHoles
(c) lons
(d) Electrons and holes both
4. The input impedance of MOSFET is :
(a) Lower than JFET
(b Higher than JFET
(c) Lower than BJT
Higher than BJT

A

5. In UJT the region between‘ peak point and valley -

point is known as :
(a) Saturation region
(b) Cut-off region
(c) Valley region
Lidy Negative resistance region

6. The voltage at which drain current becomes zero

in the transfer characteristics of JFET is called ®
*(a) Cutin voltage | _(b)CuRoff voltage
(c) Knee voltage (d) Zener voltage
7. In a full wave Silicon controlled rectifier if
Vin =314, and 0, =60° then average voltage will
be:

(@) 50V by 150 V
(c) 157V (d) 186V
8. AnSCRcanbeusedas:
. \La)’fa?ontrol rectification
(b) An invertor
(c) Theft alarm

(d) All of the above

JFETasﬂqﬁﬁa*raamaﬁa‘rarmRe‘m%
3R

(a) e oy

(b) U1 T

(c)ﬂqamvﬁm

(d) &l (a) 7 (c)

U6 P-d-d JFET o 8IRT 98 21 -
(a) FeragTT (b) Blex

(c) 3 (d) TeTagiA @ B AT
MOSFET &t frraeh wferaren e &-

(a) JFET 3 &9 (b) JFET & 311

() BJTE &9 (d) BJT & 31t

UIT & R fag aon &t fog & & o dm
HEadl &-

(a) Tqe & (b) 37 &%

(c) &7 & (d) FUTIcHS AR &
JFET & 3r=ia a1iaemot # ag dieest o W 37
gRT T &1 ST & Peerdl &- :

(a) @e-39 AT

(b) Be-3T® AR (31 aleest)

(c) -aIRS 4

(d) SR s

e f @ Rifeen ot Reed § af
Vip =314y AT 0, =60° &1 <1 Aces &l a7+
arm-

-(a) 50 AT (b) 150 dvew

(c) 157 arce (d) 186 3T
. U SCR-®I WM &R Tl & -

(a) fesdrascor o &

LESE

(c) IR 31

(d) IRvE T
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9. After firing an SCR the gating pulse is removed.
_ Thec rent in the SCR will :
b&ﬁﬁ:ain the same
(b) Immediately fall to zero
(c) Rise up
(d) Rise a little and then fall to zero
10. In SCR full wave rectifier, the time during which
the SCRis on is called :
(a) Life time
(b) Transit time
(c) Apparent time
\,(a‘)/anduction angle
11. The expression (1+ BA)is called :
(a) Feedback ratio
(b) Feedback factor
op gain
(d) Degenerative feedback

12. Generally transistor manufacturers provxde the-

h-parameters of a transistor in :
(@) Common base mode
(b) Common emitter mode
(¢) Common collector mode
| All modes
13. A high frequency of a CE connected transistor at
which the magnitude of the CE short circuit
current gain falls to unity i.e., p=1is called :
(a) a-cut off frequency
(b) B-gut off frequency
"(eY Ffequency parameter
(d) Transistor cut off frequency
14. RF transistors are usually characterized by :
" (a) h-parameters y-parameters
(c) z-parameters (d) All of the above
. 15. The disadvantage of voltage divider bias is :
(a) It has many resistors
(b) It allows thermal runaway
(c) It does not allow faithful amplification
d] Tt has a high stability factor
16. The unit of sound is decible so we use it because
ear response depends on :
(a) Intensity of sound
(b) Square root of intensity of sound
(c) Square of intensity of sound

'\/(d)/LEJgarithm of the intensity of sound

m-ﬂ'asﬁE— learning Platform

9,

10.

1.

12,

13.

14.

15.

16.

- _—_—— —

rmﬁrrasarascm?rﬁzwﬁqwmam
& SCR # &1~

(a) TTAFT T& & ;
(b) < ¥ 7 @@ AR S € |

(c) ag S & ]

(d) q&qm‘rmmwaﬂwﬁ?m%;
us SCR qofe Reeardy a7 wwa form Scp
wifer Tgell & e -
(a) 3T BT (b) afam &Iet
(c) T 0T (d) T BIoT
3D (1 + PA) BT BEd 6

(a) TIWROT A (b) GAYROT TS

(c) g @™ (d) fodréy genizoT
ARl gitsex fFmfa ue gifee] & hag
T B 8-

(a) 3Wafrs MR o= d

(b) 3WAFTS ITsTes fa=are |

(c) Ivafes dues fom=ar |

(d) T fo=mar |

IS 3casies famat # 3 GifoTex o 98 39
a@%mwmmaﬁaﬁmﬁ
eIRT ST ST UIRATOT Thich deb IR STl & 2 p =
HECTIT &

(a) a-3(d5 3MRT  (b) &mmﬁ
CECIREIES -(d) giforeR 3ia® 3mafa |
WHFIAT RF gifowex &1 Afrefara &= arer med
s

(a) h-ameret (b) y-orEer

OF2: (d) IR el

fava fnmote sraRm & afy 3 &-

(a) T IS WeRY A &

(b) T8 FTT AT BN AT HT &

(c) TE fyga i armats 3= 78 o &
(d) 39T RN 1T Je B &

taf o1 Hre S B § gfore & g v
B & adifh B B Wathar Rk o=y &-
(a) & & AT W

(b) &t B T & af 7@ W

(c) €&t @t digan & af w

(d) taf B g & TS |

-__ U TS

St b

—
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17. A transistor, for all values of input signal, remain
in the active region and never enters into cut off
or saturation region is called :

(a ss A amplifier
L‘6/3‘255 B amplifier

(c) Class C amplifier

(d) Class AB amplifier

18. Voltage gain of two stage RC coupled amplifier
is 150. If voltage gain of the first stage is 15, the
voltage gain of second stage is :

(a) 135
(c) 2250 (d) 165

19. The range of frequency for which the gain is
equal to or greater than 70.7% of the maximum
voltage gain is known as :

(a) Lower cut-off frequency
(b) Upper cut-off frequency
(c) Cut-off frequency

L Ady Bandwidth

20. The change of output wave shape from the wave
shape of an amplifier is known as :
(a) Phase change (b) Efficiency
(c) Power dissipation (d) Distortion | ——
21. In 2 transistor at the junction the region of
uncovered charges on both sides of the junction
is - .
(a) Free charge region
\_(b}-Space charge region
(c) Positive charge region
(d) Minority charge carrier region
22. Normally a bipolar junction transistor operates

on:
(a) Active region (b) Satyration region
(c) Cut-off region \/(ﬂm?%f the above
23. Typically the base spreading resistance has a
value between :
and 150 Q

(b) 500 Q2 and 1500 Q
(c) 5000 Q2 and 15000 Q)

(d)5x10% Qand 1.5 x10°Q .
24. The correct formula for «-parameter is :

e c8 (b)[ JVCE

I,
(d) [ JVCB

(C)[ )Wss

17.

18.

19.

20.

21.

22

23.

24,

8 Draam toppor i

o gifdwex 3 Fadl Rime & o 7 & fere
v ey o & e # sik it o Tivder a1 dga
ara 3 wirer TéY eten wEean &-

(a) aif A yatfas (b) af B yafw

(c) @f C waef® (d) a1 AB FatE
feerur RC gftwa vt oY gt deeen @ 150 &
g werwy TRoT @61 @M 16 &1 7 fekdra eRor @1 dreear

o &nmr-

(a) 135 (b) 10

(c) 2250 (d) 165

agfti & & R 511 W e srftran dieear ar
Bl 70.7% o1 3T 3B B BT 8-

(a) 1. T amgfer (b) Iea <iReted amgf

(c) S SR (d) dv3 TS

% uade P a3 IR I Ffa @ FTeR @
qRad HEaT 8-

(a) T AR (b) weTaT
(c) oifeaT & (d) fermaor
a&mﬁvﬁ:%?@aﬁzm&aamﬁmaa
2t &-

(a) e 3T &7

(b) -3 &F

() & 33T &=

(d) 36T IS 3T dES &
memmma—

(a) Oftea & |

(b) S & H

(c) 37 (He-3iTH) &F H

d) IR TN F _
mmm%fmﬁmﬂwmmmam
2

(3) 50QF'150 Q & &1 T

(b) 500 Q § 1500 Q & &
(c) 5000Q F 15000 Q & &1
d)5x10° Qd1.5x10°QH d

o-IRMeR & fore ke @ 8-
(a) GQ) Ves (b) ( } Vee
E Ig

(C)( )VEB (d)[ ]VCB
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25. Which of the foll NS Weoh g 2learning Platform?s. R § & @F-91 Tad 87
&

1
o

(®) e =15 hy + (14 hy) g

U,O)’fc" = ’B hfb + ICEO
(d) lego = (1+ hye) logo
26. The mechanism by which a transistor usefulness
may be terminated by increasing the collector
voltage is called :
(a) Early effect
unéh through phenomenon
(c) Hybrid = model of transistor
(d) Base spreading resistance
27. Bipolar junction transistor does not respond
instantaneously to the fast. changing signals.
This is because :
\(}Bd’i speed of response is limited mainly by
the diffusion capacitance
(b) BJT speed of response is limited mainly by
the transition capacitance
(c) BJT speed of response is limited by the base
spreading resistance
(d) All of the above
28. The capacitance that exists at the forward
biased base emitter junction is :
(a) Diffusion capacitance
(b) Transition capacitance
The sum of transiton and diffusion
capacitances
(d) No capacitance
29. IfVpe = 0.5V and B = 40, the collector current in
the followmg circuit will be :

(b) 2 mA

26.

27.

28.

29.

(@)l = [-1—:-;-) g + [ -1—_1—-J leao

(b) I =1 hpg + (1+ hge) Icgo

(©) e =1g hpy + Iceo

(d) leeo = (1+ hpe) Icgo

a8 frafaft fores gR1 WuRs des agl a
giforex & 3wafirar & e fsar 5 gar
HEaT 8-

(a) 37Tt T

(b) U7 g uRme-

 (c) Tif3TeR BT FaR 1 Hizw

(d) MR fareaRor afeRier
ferdt wiftr giforex iy uRafda 2 arer R
fore exfoTes 3rfenan e &l &Rl $RaT BRuT -

(a) fegal gifoReR o arffoban &1 I T

faweRor enfRar & grr Difda g 2 ;
(b)%gﬁg%maﬁmamarénanwm

enfRar & grRT Hfed B &
(c)%gﬁg%mﬁaﬁmaénmﬁmq

gfcRTer & gRT A & & =
(d) IR TN

-,mmmmmwmm

enRRar &-

(a) foRor enfar

(b) HsmHur enfRar

(c) TsbAuT g faRoT enRRemsit &1
(d) B enRer & B ~
afd Ve = 0.5 V U9 B = 40‘s‘efrﬁ1=ruﬁqm
mmaﬁr—

(a) 2 Rt

(b) 2 Freh oo -
(c) 1 et efirer 1

(d) 2.2 firedy r;ffquz'
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30. In the given circuit, when /g mgﬂg

will be :

+24V

47kQ

IVCE

e
po—
=

-

(a) 16.95 Volt.
(b) 7.05 Volt.

Volt.
(d) Zero ,
31. The circuit shown below contains two diodes,
each of forward resistance, 50Q and with infinite
backward resistance. If the battery voltage is 6

V, then the current through 100Q re3|stance will
be :

. 1500
5— W]
_p, 5oQ |
A= AWN——
6V 100Q
l'l-‘. :
\,,MAmp.
(b) 0.2 Amp.
(c) 2.0 Amp.
(d) Zero Amp.

32. Which of the following is not- correct ?

(a) A tunnel diode having a negative resistance
region

(b) Tunneling mechanism takes place at the
speed of light

(c) Tunnel diode is used as a microwave
0sc¢j

unnel diode can be operated over hlgh "

voltage range.

31.

32.

@%O!étﬁﬁmg Watmngi liRﬂ?I 7 S| IC 0 ﬁf VCE @ HH am_

Q+24V

220 kQ I)
'\ Vce
(a) 16.95 AT
(b) 7.05 AT
(c) 24 AT
(d) T

wmﬁwﬁzmmﬁmmenm

&1 JmeRIET 50 Q & T2 3ahH AR 3+ 81 3
§ed o A 6 aree 2 ar 1009%59&11‘:?11#%
oy

, 150Q
. “D,
.. p bBoa
— = AMWW——
6V 100Q2
—H | HF—WWA——
(a) 0.02 dRgzR
(b) 0.2 PRR -
(c) 2.0 dfigeR
(d) T eRweR
= & a1 Fum e A & |
(a) GO 1S F FoTees wfcRier & grar &
. (b) GO feanfafer werer & A WA &
" (c) G SRS BT WANT Wigent kA Afera @ Hifdl
e s & |

(d) T 3TAYS Fe ArcRsT ORI 3 Weferd &1 [l
Ty _
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33. The following equ.valemuﬁﬁtf&'“ﬂ"”“ﬂ P"“FSE’“ Pret T uRuy &-

L
Lw : s

—swony— —AWWW—
i1
L)
Ce

(a) Zener diode
\(’t»,Pdrnt contact diode

(c) Photo diode
(d) Light emitting diode
34. The cat's whisker used in point contact diode is a
wire of :
(a) Copper or brass
(b) Platinum or Silver
(c) Tungsten or Steel
Phosphor bronze or gold

35. Which of the alternative is correct for Photo

diode :
(a) It can be used to increase the frequency of

ii
\/(-b)%c?a%\ be used to detect light

(c) It can be used to emit light
(d) All of the above
36. A layer of high resistivity intrinsic semiconductor
(Si) is sandwiched between highly doped P and
N type silicon material. It is called :
(a) Bipolar junction transistor
(b) Field effect junction transistor
ey PTN Photo diode
(d) Light emitting Diode
37. Response time of avalanche photo diode is :
(a) 1.0 sec. (b) 10 sec.
() 0.1 micro sec. \_{d)T.1 nano sec.

38. The eff iciency of LED for generatlng light is.

directly proportional to :

" (a) Level of doping used
~ (b).Vottage applied

V{c))/'l\{::‘nperature

(d) All of the above ,

" 39. At-20°C, the thermister may be seen to have a
resistance of 3000 Q. The resistance of
thermistor at 80°C will be :

(a) 300uQ (b) 15000 Q

_(e/40Q (doQ

" (c) T E1AE FT
34,

35.

36.

37.

38.

39.

mn SRTYLY R CE T I IR T T T T —

Lwy

—— [ AWWA—
TR

Cp

s e et

11
(@) FREAE D (b) faeg s TS
(d) ST I STANS B
foeg s 3Tl 3 g @Y aren e v U |
HRETGT?— |
@daardaa s (b) AR-m ardQ &= i
() TREA UT WA BT (d) BN /ist a1 W &l
TeHTeT ST & fore diH-w faswey e &- -
(a) 3T WANT FPrRT B amaRy agey F Rear o |

[Hdl & |

(b) TH®I YISl &6 T[T ¥ YT fosam 1 Teper &

(d) IRYFT T
mm&apuaNm%Simeif%éhmﬁ
w%cuama%ﬂaaﬁmﬁ(soﬁqﬁ\vsﬁaaﬁj
ST &1 3T BEd & |
(a) feedrar wifer gifsmex |
b) &7 F¥Td e e

(c) PIN B 31

(d) WHTE IRTSTH STAS

vacTiE Bie RS @1 3fpar g -

(a) 1.0 Jawg (b) 10 JevE

(c) 0.1 M AHUS  (d) 0.1 T Yoz
m%m%%uwoa%amm&wﬁwﬁm
Barg- 7

(a)wgaanmasw%r

(b) IR IR A

(€)am J-

(d) IR T

UMRRR &1 — 20°C W HRRY 30000 a1 80°C R
nfeRver gnm-
(a) 3000 Q
(c) 40Q

!
'(c)sﬁarmmmﬁ'—rﬁﬁmmmé l
|
|

-(b) 15000 Q
(&0
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40. A semiconductor diode that
energy into electromagnetic radiation at visible
and near infrared frequencies when its PN
junction is forward biased is :

(a) Photo diode (b) Pin contact diode

(c) Tunnel diode | _(dytTght emitting diode
41. Inverter performs the opposite function of a :
(a)Rectifier (b) Amplifier
(c) Oscillator (d) Thermistor
42. \Which stage of a dp power supply uses a zener
diode ?
(a) Voltage divider  (b) Rectifier
Regulator (d) Filter

43. Three terminal regulator 79 xx is :
(a) Positive voltage regulator
egative voltage regulator
(c) Variable voltage regulator
(d) All of the above
44. The variable voltage regulator is :

(a) 7805 (b) 7912
(c) 7812 L-@ima17

45. The device incorporates a switching regulator

instead of a linear regulator. The device is :
(a) Inverter SMPS

(c) UPS (d) Solar cell
46. Inthe given groups | and Il :
Group | Group I
(2) Epitaxial growth (i) PN Junction

(b) Growth of a oxide layer-
(c) Masking and etching
(d) Diffusion of impurities
The correct Matching :
(@) (a) (i), (bj (i), (c) (i), (d) (i)
{b) (b) (iii), (a) (i), () (iv), (d) (i)
(e)Lextw), (b) (i), (a) (iii), (d) (i)
d) (d) (ii), (c) (ii), (L) Gii), (a) (ii)

47. The material, which is used between the
transistor container and the ambient to improve

(i) ICs
(iii) Thermister
(iv) Heat sink

the heat flow from the transistor case to the -

surroundings is called :
(a) Thermistor (b) Thermocouple
eat Sink (d) Calorimeter
48. Class A and Class AB amplifiers are :
(a) OP-Amplifier

(b) Poweramplifier
\Q@ﬁ:ﬁzignal amplifier

(d) Voltage amplifier

Seatettriearnipg, Plmbl )

41,

42,

43.

45.

46.

47.

48.

(d) 3efet o foRmor

amgferat w frager 3ot Y g gradta fafdor 4

u??aﬁam??%mnﬁmﬁfbmﬁn%ﬁ

A & ag &-

(a) WaBTYT BTATE (b) fomr T BT

(C)R[UF 8RS (d) SeBTAT ITAD BT

e s Ruda @& ot & a2 2-

(a) Reeardt (b) waeis (c) 2ferr  (d) ofaweT

DC wift TORYT &t -0 3@ R gdTE &

AT R &2

(a) fova e (b) e

(c) Frim® (d) fopeex

A efifer IgereR 79 xx 8-

(a) &I dAlee st WGeieX

(b) FHOTIHD alceal JYeTex

(c) IREET AR TGerex

(d) IR TN

uRadf dieest Ygeie B

(a) 7805  (b) 7912 (c) 7812 (d) LM 317

= IRl A W Faee 5 we R Rag

=1 @1 Jwafa far s 8, 98 3R 8-

(a) TR (b) SMPS -

(c) UPS (d) TR |

& T TwEr 19 1 H-
E-l

(a) ANRE ef=

(b) 3TTES U & aef

(c) AT Td Ihv

el
(i) PN fer
(i) vIEHa IRET
(i) AR
(v) & s
e frem &-
(a) (a) (i), (o) (), (©) (. (@) ()
(b) (b) (i), (a) (i), (c) (v}, (d) (i)
(©) (€) (iv), (b) (i), (a) (i), (d) i)
(d) (d) (ii), (c) (i), (b) (i), (a) (i)
& varef S SRR & T o e arareRvT S i,
ITSTRER UT R ST 1 F7 & TR BT YUR &
fore sreinr fesam s 21 o 2-
(a) AR (b) TUGH (c) a7 R (d) HSTmdY
Tl A e anf AB vaefs 21 &-
(2) RacH sadfd  (b) o Al
() 7Y Rt el (d) Aveest aefa
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51.

52.

53.

Dhroeam toppon

Best E- Ie.arhmg P'!atﬂ:lrm

The base emitter voltage Vge, for Silicon and
Germanium transistor, fall at the rate of :
(a) 6 mv/°C (b) 10 mv/°C
(d) 1.0mvrc
The lowest value of stability factor is :
(a) 0.5 ()01  (c)2 (d)1
Whatever may be the circuit configuration, the
transistor may. be regarded as :
LAayThree pole Network
(b) Four pole Network
(c) Five pole Network
(d) None of these
Out of the three configuration, due to high input
resistance and low output resistance, the
amplifier operated as voltage amplifier is :
|_(8)-Only common collector
(b) Only common emitter
(c) Only common base .
(d) Common base and common emitter both
A power amplifier operated from 10 volt battery
gives an output of 2 watt. The maximum collector
current in the circuit will be :
(@) 5 Amp. (b) 2 Amp.
(Y0 2Amp. (d) 20 Amp.

54. With 10% harmonic distortion the total power

55.

56.

57.

output is higher than the fundamental power

only :
®5% AS1% (d)5.6%

(@) 10 %

voltage is changed from (-3.0) volt to (-2.9) volt;
the drain current increases from 1 mA to 1.2 mA.
The mutual conductance of the transistor is :
(a) 16 mS L6y 2’mS
(c) 13 mS (d) 1 mS
The equation of transconductance curve for FET
was given by : '
(a) Schottky (b) J.M. Early
(c) Hertz L—(dyShockley
For low value of drain to source voltage JFET
behaves like :
(a) Junction diode
(b) Capacitor
(c) g),nstant.voltage source

\/(d)"An ordinary resistor

In a field effect transistor when value of gate '

50.

51.

52.

53.

54.

55.

56.

57.

Ry R T 5t o B, iR @ A

Rl a anffaw & gifore? & o, 3“‘171
FeUstw At Ve @ IR @ & 8 8-

(a) 6 fir.&M. are/°C

(b) 10 fr.awe/°C .

(c) 2.5 fr.are/°C *
(d) 1.0 fy.&h.ag/°C

e s @1 e A g 8-
@05 ()01 (2  (d)1

el &-

()M ggFeads  (b) IR ¢d edd
(U gacads  (d) 3 A B eI
soa Pl wfeR @ P Frfa s 2y 5 ooy
a1 aiffaamel 7 ¥ At wadis @ ave vt
fom 5 aba &- !
(a) Hae IWATTS TUED ?
(b) HaeT IWAFTS IASTD 5
(C) Fa IHAS ATUR

(d) IFAMS AR AT IAMS IHTD e
s ifem yaeiss S 10 dice & de gRT e |
g‘mézaraﬁﬁamm%m&wﬂmm
TUES ORI 8- |
(a) 5 TRgER (b) 2 BRmER |
{c) 0.2 ThqER (d) 20 ek
10 wicreTa S foraaor & wmer et fonfer wifdwr o
wifdd ¥ 3ifere arcl @ dhaar-

@10%  (b)5% (1%  (d) 5.6%

U &7 TG Giforex § o1 e fawa &1 7 (- 3.0
dIce) ¥ (- 2.9 dIeT) e YRafdd 8 & ar 37 O
1 el ehoR § 1.2 fred-ohmR a5 wear 2

ZIfSTRER @ 31T TTeTdhall 8-

@ 16 B i (b) 2 firehr e

(c) 13 foe g (d) 1 et A= |
&7 TG CifoTRe] & fole 3FIT a1eiadt b 1
TR e enr- '

(a) Tifcadt = (b) 3. T, 3T A
CEAE (d) et 3 ;
?émm%‘ﬁﬂmﬂimﬁﬂmﬂ
Rl & IRI-

(a) Xifer BTt (b) SenRa

o Foadrada  (d) ve g TRy
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58, The wrong statement about MOSt
l/(a)'ﬂ"can operate in depletion mode only
(b) It can operate in enhancement mode
(c) It can operate in enhancement mode only
(d) It can operate in depletion mode
59. The amplification factor of JFET is 66 and
transconductance is 110 u mho. The ac drain
resistance is
kQ (b) 166 kQ
(c) 110 k& (d) 66 kQ
60. A MOSFET sometimes called :
(a) Open gate FET
(b) Many gate FET
nsulated gate FET
(d) Close gate FET
61. Linear ICs are used in :
L(&)-1.V. and radio receivers
(b) Calculators
(c) Counting circuits
(d) All of the above
62. Which is very difficult to fabricate in ICs ?
Y FET. ~ (b) Diode
(c) Transistor (d) Capacitor
63. The dark current exists in :
\(2)-Photo diode (b) LED
(c) UJT (d) Photo transistor
64. In a photo transistor :
base region is exposed to illumination
(b) Emitter is exposed to illumination-
(c) Collector is exposed to illumination
(d) Any part may be exposed to illumination
65. The critical wavelength of photoconductor is :.

; cEg
e 0 &2

hc? hc2
(C) = (d) Z—Ed

66. The response time of Photo transistor is

approxigately :
: l/@%(::;c (b) 5m sec .

(c) 5 sec (d) 5nsec
67. The longest wavelength which can produce

photocurrent in pure Si is ==
@ 1.1 mm b m)1.1um
(c) 1.7 mm (d) 1.7pum

shest E-learging GlALpM ¥ <rramr ¥ arTed B #-

(a) TUE PpacT Jaarg e ¥ wenferd & A &
(b) T aef A ¥ vnfera &1 waar &

(c) UE dacT aui= A8 ¥ yferd &1 Webar &
(d) T 3raera Ars o yferd & adar &

59, U JFET &1 Watf {uiles 66 T 3=ar A

60.

61.

63.

64.

65.

.66.

67.

110 mho &1 AC & AfeRYer &-

(a) 600 kQ (b)166 k& (c) 110k (d) 66 k02
MOSFET & &iI-&¥! Td 8-

(a) GeTl I FET (b) g A FET

(c) FageRiel 7ic FET  (d) &5 %1€ FET

&g ICs wanT & Fi -

(a) &Y. 4. vd I mieai

(b) BegpereR H

(c) oI gRuer §

© (d) IR Ty
62.

ICsﬁﬁiﬁmmmév

@ F.ET. (b)3/@E (c) giforex (d) HenRa
31 R Hisje IEdl -
(a) ST SIS | (b) LED |
© WTH

() v SRR
R T e

(a) el AR & DI FHIRIT B B (o1 GeTl @
ST &

(b)a?ﬂsiaaaaa"rnas@maﬂﬁs%uqmm
Fr &

(c)mmﬁmﬁamﬁés%uqmm
ST &

(d) fossit it mﬁmﬁamﬁ%%uqmw:ﬂ
AT &

.m-mﬁﬁﬁ@méeﬁ%—

he hc? c?
(a)E—g. () (C)E ()2—,_;5 .
m;ﬁmmsﬂiﬁa‘mmm?aﬂw—
(a) 5ARH THUS  (b) 5 fieht AU
(c) 5 J@0s . (d) 57 Jvs
Si ¥ YN URT I~ B dlell Jaied ol
Rded 2-

(a) 1.1 e, Aex
(c) 1.7 firelr. fex

cEg

(b 1.1 ATSH W=
(d) 1.7 TTSsHT We
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68. The output of a UJT can be taken from its
(a) Emitter

(b) Base 1
(c) Base 2
L(&yAny one of three terminals

89. Which of the following is used as Relaxation
oscillator ?
L A2 UIT FET

(c) MOSFET (d) BJT
70. SCR.is sometimes called :
Thyristor (b) Digc .
~ (c) Triac ‘D@)’ﬁ)ane of the above

71. In a transistor, the base current is 0.08 mA and
the emitter current is 9.6 mA. The value of fis :

(@120 \(bytr9 (c) 99 (d) 0.99

72. Transistoris a:

(a) Three port device\ (b) @8 port device
(c) One port device  (d) Two terminal device

73. Which of the following is not correct for

h-parameters ?

(a) -parameters can be measured easily
They are more dependent of each other
(c) The h-parameters are real numbers at audio

frequencied ' .

(d) The value of - h-parameters nearly
corresponds to actual value of input and
output impedances and current gain

74. The emitter current in an NPN transistor is 8.4
mA. If0.8% of the carriers injected into the base
recombine with holes. The base current will be :

(@) 8.33 mA (b) 7.60 mA
(c) 0.8 mA ! (d0.067 mA
75. Given:

Group | Group i
(l) h11 1 (a) hO
(if) b4 (b) hy
(iii) hyo (c) h
(iv) hpy (d) h,

Correct matching of group | and Il is :
LA8Y (@) (v), (b) (i, (c) (i), (d) (iii)
(b) (a) (i), (b) (ii), (c) (i), (d) (iv)
(©) (a) (ii), (b) iii), (c) (iv), (d) (i)
(d) (a) (i), (b) (iv), (c) (i), (d) (ii)
76. In R-C coupled amplifiers the voltage gain
remains constant at :

(a) Lowfrequencies
\( Middle frequencies

(c) High frequencies

(d) Low and high frequencies

s b

68. UJT & forfa o ferar smar &- )
(a) IRTSFT R
(b) 3MUR 1 W) . A
(c) AR 2 X
(d) <Y 7% 3 Tl o efifer )
69. ﬁwﬁz‘rmma‘r%aésmﬁm%mm
&
(@ UJT  (b) JFET (c) MOSFET (d) BJT
70. SCR @& &W-H¥ ded &- A
(a) TR (b) 81TH
(c) g1as (d) IR # B A
71. U ZifoReR # anuR uwr 0.08 Rl ofigoy aar
msfammg.eﬁﬁmﬁqm%marm,m-
~ (a)120 b)119 ()99 (9099 |
72. TR & U
@dTNEdm (b A N e 1
() U6 Ui gfer (d) &1 e giga |
73. h-vraer $ fore e 3 - T T @2 ?
1

() h-¥Tael RT3 31 [ 511 Tl &
(b) A TH-gIR W FEa 3 7k e &
(c)msxqﬁla‘rq‘\rhmaarmﬁaammé |
(d) i 3 Fraeh wftaren qen aRT o™ & Trafis
HFI & TG h-ATdeT 98 THT 81 2 |
74. NPN gif®R 3 I:15ie &)1 8.4 mA & afe 0.8%
mawﬁmmaﬁaasmg“étﬂﬁma
dl 3R &RT 8Ril-

(a) 8.33 mA (b) 7.60 mA |
(c) 0.8 mA (d) 0.067 mA |

75. Ramd- |
e | el |
(1) hy4 (a) h, &
(i) oy (b) by |
(iii) hyp (c) h;
(iv) hao (d) h,

W | I | e e &
() (a) (iv), (b) (i), (c) (), (d) (i)
(b) (@) (i), (b) (i), (c) (iii), (d) (iv)
(©) (2) (ii), (b) (iii), () (iv), (d) (i)
(d) (a) (iii), (b) (iv), () (i), (d) i)

76. R-C gfnd waefs # dicear o Rer <gan &-

(a) F 1 smafii R (b) wear Mgl |®
(c) 3 MRl R (o) ot 7 3 amgferell

—elreamtopper.in -



78.

79.

80.

81.

82.

83.

(a)

(b)

84,

In R-C coupled amNiﬁM@é&?&l—‘{&m’nh

heR .

;—hi:; R, gives the voltage gain al
frequencies :
@Low  (b) High LcyMiddie (d) Al

Applying negative feedback to an
distortion is reduced by a factor
(a) BA (b) 1 -pA
(c) pA -1 L (d)-4= pA
In amplifiers negative feed back :
(a) Increase the output impedance
(b) Decrease the bandwidth
(c) Increase the amplitude of non-linear
distortion
Increases the input impedance
An amplifier has a voltage gain of 50, |f the gain
is reduced to 10 by negative feedback. then the

percentage lif(é?dba(:k is :
(@) 4% 8% (995% (d)10%

For Silicon the temperature coefficient for the
forward voltage bias of P-N junction is
approximately
(a) 2.02 mV/°C . (b) 1.8.mVv/°C

1.8 mv/°C (d) -2.02 mv/eC
A P-N junction diode in which both P and N
regions are heavily doped, exhibits a negative
resistance property and extremely high
frequency response:is called :
(a) Zener diode

aki diode
(c) Point contact diode
(d) Photo diode

In photo diode graph between dark current and
light intensity is : ‘

[ y 4 A

2
g ‘

amplifier,

STRI RIIRT

ST g B et
A
=

Which of the folldwing is always used in forward
biasing ? \
(a) Zener diode (b)LED

(c) Tunnel dicde * (d) Photo Diode

g Platform

77.

; heR
R-Cqﬁ!mmafmﬁwﬂz_, AN

for1 amferdl e dveear e dar & & &-

@FF )3 (@mEm  (d) W

78. us yadd § womd gnRer ARfE B w
feremur & ey @1 TUT 2 -

(a) pA (b) 1 -pA
(c) A -1 (d) 1+ pA

79. yatf@l 7 HoTcHS TR
(a) Frfar wfcanen &1 &g &ar 2
(b) &z iz B B awar &

(c) 3RRaes ferwaor & 3mramy ¥ afy v &ar 2
(d) Frareit wfcramen o afig @war &

80. U® Ya¥E @1 dicear @ 50 21 AR moTeTs
TR GRT @ G923 10 Y@ Sl € &t qeior
PIRNCES |
(a) 4% 0)8% ()&%  (d)10%

81. Riferat & forw ammieear st & p-N &R &
1Y [UTics FRTHIT e &- o
'(a) 2.02 mV/°C (b) 1.8 mV/°C
(c) 1.8 mV/°C (d) - 2.02 mV/°C

82. uH P-N il grais ot P qen N 2R &3 7=
wfed B &, Fomes HfeRYer 1 1T el war &
e tf 357 ngfy arfear A 2, FEemEr -
(a) 9K SRS . (b) ETa! SIS
(c) fog W eriie  (d) Wb SRiE

83. WY STAIS H 377 €IRT T Y121 &) gl & Sia %
%\._ F

A
NEANERIGE)
A/
(b) %
m;’na—m’ EEANICIRG)

84. 18§ dlv wda 3 it A € g e €
(a) 3R 318 ()LED
(c) T ZRiTE (d) HepreT SIS
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85. The colour of light emitted by LED depends on':
(a) Its biasing
(b) Applied forward voltage
(c) The magnitude of its reverse bias
‘ype of semiconductor material used
86." The work function of a semiconductor is equal to
the energy difference between :
Surface and Fermi level
(b) Valence band and Fermi level
(¢) Conduction band and Fermi level
(d) Valence band and Conduction band
87. The resistivity of a sample of n-type germanium
at300Kiis 0.15 ohm-metre. If mobility of electron
is 0.39 m2Voli- Sec, the value of donor
concentration is :
L@ 1.07x10%°%m™3  (b) 17.0 x10'%m2
(c)5.85x10""m=2  (d) 1.95 x105m=3
88. Which of the following is true ?
(a) The value of y for silicon diode is 2
(b) Space charge capacitance Cr= KA
S
(©) For driit current external applied voltage is

not necessary
\%ne of the above

89. The resistance of the P- Channel in the base is

called :
(a) Static resistance
(b) Negative resistance
(c) Base spreading resistance
‘\d)/iac resistance
90. The physical width of the base decreases with
mcneasmg reverse collector base voltage. It is
called :
\,(a)’ﬁase width modulation
(b) Base spreading resistance
(c) Diffusion capacitance
(d) Output impedance
91. In a semiconductor, at room temperature, there
is :
L&A partially filled valence band
(b) An empty conduction band :
(c) A very large energy gap between them
(d) All of the above
92. Pure Siat 300 K has equal electron (n,) and hole
(n,) concentration of 1.5 x10'® m=2, Doping by

indium increases n, to 4.5 x10% m™2. In the

doped silican the concentration of n, will be :
(@3 x105m™ (b) 6.75 x10% m~3

A_(c}5%10°m™3 (d) 13.5 x10% m~3

85.

86.

87.

88.

89.

90.

91.

92.

© () 5.85x10""m™3

LED ¥ Feuford sreprer &r 1 FefR e -

(a) 37T 31T TR

(b) 3R 37 At R

(c) Jahd IR & gRwmT O]

(d) g JnefeireTes Geref & eR

31efeTEIE BT BIAHEA Folf <R P aER &-
(a) Ut T G WX & 4

(b) G dvs g BUf R & drg

(c) T1eT dv8 g BNl wax & dr

(d) Tanst dug g @ dvs & dm '

300 K W n-Y6R SHTH & T3 &1 ekt
0.15 3@ 21 afk soag B ik
0.39 1. %/a1eT JehUs 81 Al ZraT Tzl B 5

(@) 1.07 x10¥m™3  (b) 17.0x10"%m2
(d) 1.95><105

= & Pi9-a1 T 22
(a)ﬁ?f%faﬂqgm‘rgds%gnarnrzﬁrar*l
(b)maﬁwmﬁm@_e—/‘

() I URT & foe a1 3IRMT IR T 39w
(d)-IRIET § B T

AMUR H P-d9eT & 9feR1er Y P &-

(a) ®ifs aferer (b)maﬁi%ﬁg |

(c) 3R fawarRa wferer (d) A.C. ufeRrer
IhH HUTED-3MMER dleesT §a UR 3T4R &) s
IS ue S 21 swe) ey -
(a)wwmqm(b)mﬁmwm
(© femorenRear  (q) Prfa s -
IR S qW R srefercia § grar &-

(a) 3RS WU ¥ sRT WS dvg

(b) et TTer dug

(c)mé\auasagaagrmm

(d) IR Tt 3

3 i H 300 K AU R 300G (ng) W6 SRR (n,,) B
WA U6 T 1.5 x10'® m™ §| shsaw gw
T TR W n, TGER 4.5 x 102 m=3 & Tk
Aiféas Si W n, @1 HF g1 BNr-
@3x10°m=2  (b)6.75 x10% m-3

(©) 5x109m™3 (d) 13.5x10% m~3
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~ For semiconductors, the e
" petween vacuum level and the bottom of
conduction band is known as :
. (a) Band gap (b) Work function
ttron affinity  (d) Mobility
04. A semiconductor device with three p-n junction
'Z) Semiconductor diodes and UJT
(b) BJT and FET families
family
(d) None of these
g5. The ratio of reverse to forward resistance of a

germanium diodeis:
@2:1 (b)26:1
(©40: 1 | (d)4600: 1 :
96, When a junction is made between gold and
n-type doped Silicon :
(a) Etéctron enters into gold from Silicon *
) Electron enters into Silicon from gold

(c) Electron enters into Silicon and hole enters’

into gold

(d) There is no flow of cnarge carners through 4l

the junction
g7. Dependence of barrier

temperature T,
impurity concentrations N, and N is given by :

2
n; NN
by =22 1og Neld

kT
(@)Y =—e—'°9

N, Ny kT ‘n,-
2
e N, Ny
b=l d) Vg = —log —2—2
@Y% =17 gNNd (DY = rloo =~
98. The equivalent circuit of Zener dlode in ideal
model is :
L
(@) Vv,
+
* (o) Vv,

potential V5 °".'

intrinsic  concentration n; -
. 97!

94,

99.

96.

98.

Wb farles ™ s PaHe vt 26 foro e va ud enerst 4z Y deredy

¥ dvar @1 Falf AR wEaen &-

(a) AU 3ERTET (b) &1 BT

(c) goraeit g (d) e

aré e yfel # & p-n wfls aeh pefaeT®
gfer &-

(a) 3refaTere 31aTs e UJT

(b) BJT @2m FET uRar

(c) SCR URar

(d) T 9§ 1S TRl

ST+ STATS H Sahw 3 31 WRRIY &1 SUTd 2
3

(@2:1 (b) 26 : 1

(c) 40 : 1 (d) 4000 : 1

34 99 § nYeR 3 Aiea Rifoea & &g @
CERIRA

(a) 3o Ffc | A # 749 &)l &

(b) geraer a2 Raferet & yarer avar &

() o Raferate  wren e ey f sy e &

(d) Sfer.% 3R IR 1A &I BT FATE el gl

fase gk v Y A T, mﬁamn,,mfg
AT N, qAT Ny R FRar 8-

KT n;?

(@) Vs =~ log " NaNg

——log
4 NaNd () P kT n2
'.:'2 . 2
e N.N
OV ="—1Io dV- log =24 .
©% kT ,g.NaNd()B B - ° o n;

mmﬁmmm'@mwﬁw%—
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99. The typical value of diffusion capacitance is 0.02 99, frror enfar &t yferasTera A 0.02 uF g}m‘]
than transition capacitance :

uF which is

r/{,a')’SOO times

(c) 5 times

be:

(b) 2 times

(d) 2000 times

@ The transition capacitance of a Silicon PN
junction of cross sectional area 0.1 mm? and

thickness of its depletion region is 0.5 micron will

igmor e @t ... &-

(a) 500 oM (b) 2 7T

(c) 5 Tom (d) 2000 777
100. ves Riferater PN 3ifér foreres arppeer &re &1

0.1 e, 2. den 35 aL &7 B AT 0]

HIEH &1 3! Hpavr enfiar 2fr-

(R &-¢, = 8.85 10712 &/, aur Riferaia

"(Given t,= 8.85 x107'2 Farad/m and K for R K = 12)

R : (a) 17.6 0B 88 (b) 212.4 Gt 4573

R (b) 212.4 PF (c) 405 8@ %eE  (d) 60.0 G s

(c) 40.5 PF (d) 60.0 PF

Answersheet ,

1. © 2. () 3. () 4 () 5 (@ 6 (b 7. () 8 (@ 9 (@ 10 @
1. (© 12. (d) 13. (c) 14. (b) 15.'(d) 16. (d) 17. (a) 18. (b) 19. (d) 20. (d
21. (b) 22. (d) 23. (a) 24. (@) 25. () 26. (b) 27. (a) 28. (©) 29. (6) 30. (9
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71. (b) 72. (b) 73. (b) 74 (d) 75. (@) 76. (b) 77. (c) 78. (d) 79. (d) 80. (b)
81. (c) 82 (b) 83. (c) 84. (b) 85 (d) 86. (a) 87. (a) 88. (d 89. (c) 90. (3
91. (@ 92. () 93. () 94. (¢ .95 (d) 96. (@) 97. (b) 98. (h) 99. (a) 100. (X)
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